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ECONOMIC THEORY 1
Retace 1
19.04.2016

1. Show and explain the structure of modern demand analysis.
1
2. The production functions are of the form y = x/x; and y = (e, x{ +a,x{)”, where a,b >0
, o, +a,=1and p<1
a) Calculate marginal products of inputs. Are they diminishing?

b) What are the MRTS:s? How do they vary with i) production ii) x, /x; ?

3. Given the production function f(x,,x,)=a,Inx, +a, Inx,, calculate the profit-maximising
demand and supply functions, and the profit function. For simplicity assume an interior

solution. Assume that a;, > 0.

4. Consider an exchange economy that consists of commodities x and y and two individuals.

These individuals have the following utility functions:
ul(xl’yl) = 1n(x1) +1n(y1)

uz(xzeyz) =X3),

and the initial endowments are (%,,7, )=(55) and (x,,y, )=(5,5). Solve the general

equilibrium for the economy and illustrate it in Edgeworth Box. Verify also that the Walras’ law

holds.



5. Two California teenagers Bill and Ted are playing Chicken. Bill drives his hot rod south down
a one-lane road, and Ted drive his hot rod north along the same road. Each has two strategies:
Stay or Swerve. If one player chooses swerve he loses face; if both swerve, they both lose
face. However, if both choose Stay, they are both killed. The payoff matrix for Chicken looks
like this:

Player B

Left Right
(Stay) (Swerve)

Player A Top

(Stay) -3,-3 2,0
Bottom
(Swerve) 0.2 il

a) Find all pure strategy equilibria.
b) Find all mixed strategy equilibria.

¢) What is the probability that both teenagers will survive?






